|
| SNTRODUCTION 7o NATLRAL SC/EUCE i

| S

CEKR LS | CHEMIISTRY. LOORK S0P

; _ / [
e j |
Orid, # +1+7 i_"’* . Rl +1 +f2 | AT
%ﬂ i 1 = 34 |+2 ("LQ +6
e ‘ 1 [
’ I
} e JC i CTH (0
= ! Pq-foé ér ( é
3 et b 5—9“{ - o [+1p ~42
] A
- +
NFOg NFH{_’_
| e !1—2 :'Ll:(j-
HSRE - [+

—
@ | Co () + &Aﬁ+£a%3 —_ Qﬁj(ﬁﬁ- @3 (‘UL)

= | 1=
oxtdatimt  © & SR G o
sxle . 5 /,/"
07".&4-41‘??»

i
A 9 ~» reduc «ﬁfom +1 do 3¢ o i Ration sHale i
Cex 0 wap-&j@‘l ’ﬁ?ﬂ\}_ @/ o 42 oxidaton state !

(2ot | > e w_muvﬁ w+ Prg » o OXI&Q&CEW



—— S " ...r..h;.,-u_,
1 -1 :B_L-F_‘* =3 pr| =1 |
(FAo | 55 b A 2l yrelbx reéectem. *
| , | f |
252 \ 5[}@ [h‘ (g_) = 12 RO (ﬂ) i HKC[ (eg ) F S:‘FO& (S) ‘
B | - =%
== +14 | — | 5 l-—-Z +.1 | B e ) 2
N8R RGN NS W i Y o | =4
S e mw j=ir =2 |
S |
& Wt 4 redox  reacteon - ’

@& Molar nuass of NatcO, = @;. 1898 + 1,008 + iA-m.'—frB(mqq);i/

= £3.-97%% 3 [rol

= B §
5- élB% NQH'COS X el = L 1CT6 T8 magl
§3.9755 4 NaHCO 3 ‘
. '
/3’)0/4(1'1’7 = # o/fmo/e/:?c?]cgo[;tvle " é,g?gx/o ol
Va&fnaeaf Solutar 3= ‘ggb,aox/é—sL |
= p-28FF M

Nolar mMass ?/l kl CrlO_7 T AT IeE j‘/mo/ |

\ -4
: X ey = £ 2350X(0 moll

I6°mg J P__%’ 11559 i

i 2z |
molarifys s of S = g.3350x/0 mel . j-3550AM0
- 3z_ M

laace of solehon $v0.00X 10




@i 0+ 124 mol Ca(NO3)5 IS S AR S Sh A SOLLA'{-L‘W\T
| 10000 %15 L of olukiom |

Ca (N05), (x3) —> Ty + 2 NO3 (a2)

nww ‘ 1‘ ;”—N\ H ’foUH\/( ] Cl;;q_M) |
EZ Cﬂ1+ rens = hayM ;\[o; s =12 I A |
3
E;S( f\"\blm’ PMARS of NHLLC,Q El O r bt 3/1/\4,0( ‘
‘ ~ Mo | 2 !
| > 3%3 i & 53—__;5_87‘-?_“ = 9493 qfiid lnd
¢ NH,cL
| 1 |
I D93 41 %16 mol T T ) ‘
HS50.00 X ;63 L Selutcm
Tl Y et ety
NHyCR (=) —>  NHy (=2
D J2IHM | 3 O 2216M 0:2216M
NH; WA = 0 2216M L s =08 2216
l |
@ }Mo\ad’p& = # noeles of solu e
1 Wo e vue QJC ol ‘
|
D goohk=—F msted NaOH
2501006 XD
| 3
o = 100 mol
\25 o} NaoH = (0» L,LOOM\(RSD»UD X 10 L} 0 |

H* e



!

|

01106 mol Naoh x [37:98389[ = 3.997579 g Nadh
| e | |

= _3;@93 Nao6H Oy At:aag.

e

=4 = B

100 SHEETS
HEE

50 SHEETS
200 S

10 dolacihy = # raoles KOH

1
144

123 Volume of goluten
& | PN B S 1 3 e o

#F Moles koH = <O1.,15'DM) (&tGDL} = 05050 mol

Molar  naass 03’: kot = 56-09632 3/mol

O:500 mol KOH X [ 2€ 07628 ) = 28.68k829 KoM ‘
Imo | |

Doo we,zalf\ vk gg.oq&”;g O‘F KoH u,g,e'rg Wﬂ;\aﬂ{jﬂa_i

badance . Transfer o olid iwﬁﬁ‘%ﬁ:ﬁj ato e |
v L volwe iz {{Ml«w Add f@;ﬁzﬁo woatir T2 -l

[ o o e el i

apscolve | mOH| Compliiely | L S HER PR oy |
Mawv k& N HC &I {A}A.-Lc,y z Ca P ard nvery Hao '
volawehic  flask a few fomes fo nix Hta contenls.

¢) HRE=
i 200 M 0:7FooM
f NaoH Na OH ;
|
: 2§O:OOML ¢
L—-—-——._.._,____N__,Lr. : - ; _...’ Lo T
Sheie stledim delute solakime



Aente  paller —>  arser yedl
# of moles of NaoOH 4 # of moles of- Naol
JA ken 'an stock ,c.ouu-,m I Ailude Soluhond

aelan Vol Of _  Justarnhy of | [voluwe of
]C S'*DCK« S’I’DC}C- 5&[&&4{ SO[: CLLLLL“:&SO E‘.‘-

<.§1<00le) (v 5 lutce. of: > 1o @l DrooM) (,lgoe oomL)

-

Stock SelT

veluuwe o stock ¢ — [piFoo M v =
Qogfu_%m % £ oo M) (250~ com )
= @LooM)
= 875 i

o

60 U,J—c:g A bavedle, WW heansfer £F.5mlL of
o Hock solwhove -t a  2spovml  voluseetiz
}Ewﬂn- AL f_p.novzﬁ«_ DL wator o wake wp to -He
252 ® mL  novk - Tavert e flaok a  feco freed
Tk Bt e




